Name:

December 11th

5-a-day Numeracy

What fraction of this shape is
unshaded?

o

2.0

Arrange in order from lowest to
highest

0.2 018 0202 03 0.27

014, 0-3,0-803 0-4H03

Calculate Calculate
4x1.3 }“3 2.4x1.2
A
sz a- 68
50 9
Simplify Simplify
WXWXW K W+W+W
[J b
The total value of the ten coins is £1.60.
What coins did his mum put into the piggy
A1-20 bank? i |
James puts six 20p pieces into the £l bo "gf/-'lo - 6{0“@ v
piggy bank.
His mum puts four of the same coin ]p
into the piggy bank. 2ur )Of s
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December 11 5-a-day Foundation

What type of correlation is shown?

T x ‘

Calculate the estimated mean

L@ﬂg?’h F
0sl<10 5 20 100 1950 2 100
20sL<40 %2 30 ﬁi@_ o A

| #50 R

Write down an equation from the
information given

27 +40 =130

Solve the equation to find x Write down the size of each angle

£

b= 140 346
A= 4h bt 5L

Gh-b

200 peop|e p|ay a game that costs Calculate how much pl‘Ofit the game
) makes.

Zboc 200X01 2 0o wynmeds
The probability of winning is 0.1 20x 5= # 300
The prize is £15. iﬁtg()o, 653@(7 T dfﬁoo J
pﬂ'oﬁh
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Higher

O is the centre of the circle.

Find the size of angle AOB.

Anna, Beth and Carla share money A2 2 = e
’ ] fg— - ‘-) .
in the ratio 2:3:5. ﬁﬁ
Carla receives £75. ’59 5% 3 = ;{4’7
How much does Beth receive?
Find the coordinates of the point (7 = X7 1)
where the linear graphs y = 4x + 1 7
and y = 6 - 3x intersect. y: 20 () T 27
L-3 = Gxt] ? 7
-
i 4
c (5 2]
x = /% ?‘) +

EEEL AT T L]

LT E TP

Bem

The dlagram shows a square

W/\J ll'ulo iw*’lﬁuﬂ /fre

Calculate the area of tf@ white region.

1§ bbem,
4?{0/76'5@ —sz XSx ({5'5,{
[f’éhgffﬂc.mq’

@'}@ = qz'gcmm

gl - 43.3 = A5 . 9t




